
PROBLEMAS DE QUÍMICA

ÁCIDO-BASE       

EJEMPLO 9: Calcula el pH de una disolución 0,10M de NH3. Kb=1,79·10−5

NH3
   +  H2O      NH4

+
(aq)  +   OH−

(aq) 
[inic.] 0,10                        −               −
[eq.] 0,10 − x                  x               x

K b=
[NH 4

+] ·[OH - ]
[NH 3]

= x2

0,10−x
=1,79·10−5

como Kb << 0,1 =>  x << 0,10  => 0,10 – x ≈ 0,10

  x2

0,10
=1,79 ·10−5      x=√0,10 ·1,79 ·10−5=1,34 ·10−3M=[OH -]

  
pOH=− log [OH - ]=− log1,34 ·10−3=2,87

  
pH=14−pOH=14−2,87=11,13

www.alonsoformula.com Carlos Alonso


